Warmup

Solve the following by either elimination or substitution
6

Matt and Ming are selling fruit for a school fundraiser. Customers can buy small boxes of oranges and
large boxes of oranges. Maitt sold 3 small boxes of oranges and 14 large boxes of oranges for a total of

$203. Ming sold 11 small boxes of oranges and 11 large boxes of sterg total of $220. Find the
cost each of one small box of oranges and one large or S. *Q,UW\\V\N 0 N
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GSE Algebra 1
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5.3 - Graphing

—

:W\X~Ho7

Name:

tem of equations by graphing?

x+y=3
—b6x+y=—4%

+lfX FpX.

Wink (0 53
@)

Equation 1
Slope:
y- intercept:
Equation 2
Slope:

y- intercept:

2"d Equation

w1

Slep<
N Ae ;L\\

;g—_fjx_l—\
T

Answer:

Same line? N
Infinite solutions 0
Parallel lines?

No solution__ VN ~

Infer'secflon?( 3
Name it \ ‘ a




Solve the following systems graphically.
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